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Q.No: 1 Qutubudin Aibak, the first ruler of Delhi Sultanate, had constructed Qutub Minar around-

2427457

el Teaid & Ued IRIE I Leo T $ga WAR 1 Fmfor -

1199
A

1199

1299
B

1209

1399
C

1399

1499
D

1499

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which of the following statements regarding Tokyo Olympics 2020 is not correct?

2427529
A s 2020 & e F Fa # F B 0 U 9 T R 2
This was the 32nd edition of the Olympics.
A
Tg iR P1 3237 SR AT |
The official motto of Tokyo Olympics 2020 was “United with Emotions”.
B
A AT 2020 FT NGNS o=t arR Gl & IR |
India finished 48th with seven medals.
C
YRA 914 UGB! & WY 483 ™M | 7|
China won the most medals.
D

T T g Hi 3 S|

Correct Ans : D

Subject : General Knowledge

Q.No: 3 The War of 1812 was fought between the US and

2427568
1812 F1 g RT3k & s a8 T T
Great Britain
A
e e
Canada
B
Eis)
Russian Empire
C
4 e
D Germany
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i

Correct Ans : A

Subject : General Knowledge

Q.No: 4 OPEC is formed by five Producing developing countries in Baghdad in September 1960.
2428895
3® 1 T Urg s i 3 gR1 fideR 1960 & Fare # fbar mm anl
Electronic Items
A
TS 3FeH
oil
B
o
Robotics
C
e
Aritifical Intelligence
D

P T

Correct Ans : B

Subject : General Knowledge

Q.No: 5 Michael Phelps, popularly known as the Flying Fish, has won how many gold medals in the Olympics?
2430526

TR 5% & AW W AR AR Few 7 shaflie # oo fhad ol v o 87

22
A

22

23
B

23

24
c

24

25
D

25

Correct Ans : B

Subject : General Knowledge

Q.No: 6  Who among the following leaders was associated with Azad Hind Fauz as its founder?

2433604
Foffed & 4 31 @ a1 IRUE S E9 § (T BT B § deg U
Ras Bihari Bose
A
T R d
Lala Lajpat Rai
B
GISISIEEGRIC
Madan Mohan Malviya
c
HE Hig A
Abul Kalam Azad
D

g B NG
Correct Ans : A

Subject : General Knowledge
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Q.No: 7  Yen is the official currency of which country?

2434067
A g 2w ot snfireTis qET R 2
China
A
ElEl
Japan
B
ST
South Korea
C
o i
Philippines
D
fpfaftre

Correct Ans : B

Subject : General Knowledge

Q.No: 8 Shivalik hills are part of which of the following?

2435810
Rrarfre gers! Faffea 3 & foae fown 82
Aravali
A
SRTEl
Western Ghats
B
ufedt are
Himalayas
c
fenrem
Satpura
D
aget

Correct Ans : C

Subject : General Knowledge

Q.No: 9  Who among the following ended the Mauryan dynasty in 185 B.C.?
2435889

frofafea & @ foua 185 $.9. # 11l dx1 &1 oi fosam a2

Vikramaditya

A

e

Brihadratha
B

gesd

Pushyamitra Shunga
Cc

T T

Ajathshatru
D

SIS

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which of the following female tennis player has won the Golden Slam in 19887
2440848

frafafea & & frg ok A RIeEt 3 1988 # e W o 82
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A Serena Williams

Fe faferaew
Margaret Court
B
wrRe HIE
Steffi Graf
C
Rib o
Martina Navratilova
D

fE Fafetar

Correct Ans : C

Subject : General Knowledge

Q.No: 11 The 'Tulsi Utsav Raghunathgatha' is a -days celebration.
2441044
gt I AT i 31 a1
two
A
Q
three
B
=
four
C
EI0
five
D
™

Correct Ans : B

Subject : General Knowledge

Q.No: 12 The Rashtriya Gunakar Mule Samman is given to personalities for their achievements in -

2441067
T TR B WA KT BT ST # Juaferd & forg foar s g -
the protection of music, culture and art
A
Tiftar, Repfar SR war Bt grem
Hindi Software, Search Engine, Web Designing, Digital Language Lab, Programming, Social Media, Digital Audio-Visual Editing etc.
B
TR wiredw, e $om, 9 feomefh, R daw de, W, e e, fefea sifed-fagerm o sy
development of Hindi language and its dialects by persons of foreign origin
C
Tt 7 & cafdrdl grr R vmen ofR swat siferit a1 e
Scientific and Technical Writing and Text Books in Hindi
D

&t & dmfe iR THiet e ofR UoT YR

Correct Ans : D

Subject : General Knowledge

Q.No: 13 The Mahakaleshwar Temple of Khargone depicts the architecture of which dynasty?
2441235

T T FRPIAR HRR 5y Jorix Bt argean ot el 82

Maurya

A

B Paramara
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Gupta
C
e
Chandela
D
Lt

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Where was the first dry port built in Madhya Pradesh?

2441469
e TR H Tl §S UIE @l S T AT
Mandideep
A
Heldly
Pithampur
B
drmgR
Khajuraho
C
TR
Satna
D
ol

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Jamwantki caves and temples are located in the area of:

2441563
St HTT R TR fFad &7 & fRua g2
Singhori wildlife sanctuary
A
et Fela enERYg
Van Vihar national forest
B
FARRTE T
Pench Tiger Reserve
C
U9 TR ferd
Satpura Tiger Reserve
D

Fagel TR ford
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which homegrown Fast-Moving Consumer Goods (FMCG) Company has proposed to pump in Rs.500 crore for setting up a manufacturing facility in Smart Industrial Park (SIP)
2441652

o R Re- AT o T (V. AL S, ot A gy 3 W Sefa urd (. e i) # v fiftmior gier wifia w3 % R 500 $RIS $Ud I $ A 5 82

Hindustan Unilever

A
fegeam gfefia
Dabur
B
SR
C Britannia
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ITC

STEERR

Correct Ans : B

Subject : General Knowledge

Q.No: 17 BHEL stands for__

2441688

I (fLeasd) ST e

Bhopal Heavy Electricals Limited
A

T ¥ g fiftes

Bharat Heavy Elecctricals Limited
B

YR 34l FAfRTE fofies

Bhopal Heavy Electronics Limited
C

*orer 3t g fafits

Bharat Heavy Electronics Limited
D

YR ¥4 Fo T Rifes
Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following was not one of the States which was merged to form Madhya Pradesh in 1956?

2441741
1956 # FMURIET # ¥ PIH-W1 U7 A U & & forg faem b 0 It 6 4 U T e
Nagpur
A
TR
Vindhya Pradesh
B
o wim
Bhopal
C
ot
Madhya Bharat
D

L YRT
Correct Ans : A

Subject : General Knowledge

Q.No: 19 What amount has been allocated to Madhya Pradesh under the Jal Jeevan Mission by the Union Government for 2021-22?

2441837
S Sffa R & ded S TAR gRT 2021-22 & i meawesy of faat iy srdfea o 1§ 82
Rs 5,117 crore
A
5,117 TRIS I
Rs 6,329 crore
B
6,329 TS TW
Rs 7,167 crore
C
7,167 TRIS I
Rs 1,395 crore
D

1,395 FRIg T9
Correct Ans : A
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Subject : General Knowledge

Q-No: 20 Dilwara Jain temple is situated in which of the following place?

2442489
fercrargT o R Frefifee & @ fre = w R 2
Jaisalmer
A
ENEC
Bhopal
B
*arer
Mount Abu
C
ST 311,
Gwalior
D
IR

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s

2422820
Assertion (A): The bio magnification of a river causes the water suitable to drink.
Reason (R): The level of toxicity increases as it is passed from one level of an organism to the other level’s organism, resulting in hazardous outcomes.
= Profafed vy § < $9 § e @ @ o e ok R 1 "SR $ w0 H A9 a1 7 1 Syt 39 Qi Sl 3 grauriyde s S 3 o T e fawedt 7 & uy o1 wdt Iw
3ifi (A) @ T F 59 3Mae F RO TR U T & S B
PR (R) : R 1 TR ¢ Wil § i 78 oid & U6 TR I gk TR S oiid VARG 2 o ¢, s IRumResy a1 TRum I 8 €1
The (R) statement is not true.
A
(3IR) B F I Q1
The (R) statement is the correct reason for the (A) statement.
B
(31R) 1 T PRI 3
The (A) is the correct statement.
C
(%) W& PO &
The (A) is the wrong statement.
D

(Q) T P B
Correct Ans : D

Subject : General Science

Q.No: 22 What are the major sources of salty water?

2422839

@R gt & yE A @ §?

River, ponds and springs
A

T, aeTe R TR

Tub, tap water and glaciers
B

=9, a0 31 U SR feme

Ocean bodies and glaciers
C

TRRIR el ok g
D Seas and ocean bodies
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T 3R HENIR fer
Correct Ans : D

Subject : General Science

Q.No: 23 Quicksilver is also called:

2422847
Pl ®1 75 W Be1 o §:
Mercury
A
T
Lead
B
@S
Calcium
C
S
Arsenic
D
Eisisca

Correct Ans : A

Subject : General Science

Q.No: 24 Symptoms of rabies start to appear within 90 -175 days of ______

2423001
Xeiet & e & 90-175 il 3 ofier forrg &7 v &)
Dog bite
A
Eakakas
Mosquito bite
B
DR Bl
Cat bite
C
foreeft 1 PrET
Human bite
D
HId BT

Correct Ans : A

Subject : General Science

Q.No: 25 What does a decrease in blood supply in the heart can lead to?
2423012

T B Yad @1 SMyfd H1 §R G I & wha 2

Nausea
A
waet
Heart attack
B
Ra @ dwr
Stroke
C
ST
Tiredness
D
Y&

Correct Ans : B

Subject : General Science

Q.No: 26  Which of the activity is considered to be healthy?
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2423039

B & e w A o 82
Physical inactivity
A
W Ffdraar
Using a phone for long hours
B
S TG T B BT T BT
Sleeping early
C
St d
Sleeping late
D

RIAWE

Correct Ans : C

Subject : General Science

Q.No: 27 Which one the following is the characteristic feature of gymnosperms?

2428030
Frofarea & & FH-3 e 3t fama 82
inconspicuous unisexual flowers
A
SR Iyaferh Ga
simple plant
B
YR g
flowering showy plant
C
53 fRemd g
cedar
D
R

Correct Ans : A

Subject : General Science

Q.No: 28 Which of the following is one of the major phyla of invertebrate animals?

2428725
Frofafea & 3 o1 smve! Sigel & moa w4l 3 3 T 87
reptiles
A
Riliaf
algae
B
S
bryophytes
C
SR
Echinodermata
D

TP RIS

Correct Ans : D

Subject : General Science

Q.No: 29  Which of the following is the basic unit of classification?
2428792

Frofafea & 3 o T 53 T Al §2

species

et
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B genus

i
family
C
RErR
kingdom
D
wrge / f¥fem

Correct Ans : A

Subject : General Science

Q.No: 30 Which amongst the following is not a characteristic feature of phanerogams/spermatophytes?
2428816

Froffad & & SF-a1 BRI/ uredr Bt R e 82

they are seed-bearing plants

A
IRdRiE a7 3R T dieg §1
gametophytes are nutritionally dependent upon sporophytes.
B
TR BYeT 3R W §
fertilization does not require an external water source.
C
W 77 TR demfeg ¥
they are seedless plants
D

) T IRR THPIRE §

Correct Ans : D

Subject : General Science

Q.No: 31  Not a cause of air pollution is.

2429014
aTg G PR TE____®
Electrical vehicles
A
Ty A
Industries releasing harmful gases and smoke.
B
FERE T ok yaif Biga ard I
Burning of garbage.
C
FS-HRDE Sl
Burning of crackers.
D

Jerd S
Correct Ans : A

Subject : General Science

Q.No: 32 Water containing lead causes

2429030
e g T F PR i
Sound problem
A
wf ger
Nervous system issue
B
T 43 3 s
C Mental retardedness
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AR Hear

Reproductive problem

Ul JHH™T
Correct Ans : C

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429032

Assertion(A):Water does not get polluted by washing the clothes in the running water of the river.

Reason(R):Detergents used for washing the clothes pollute the water.
= Fofafad vy & < $u € BeE o B aiftsyTn ok g B "SR & w § A9e a1 11 81 St §7 G FUEl $1 Uraurgde S S § 9k R e fawed # 9 vy o1 we Iw
RBYT (A) : T F 754 T F HUS O F I ugfa T dar ¥

PR (R) : HUS 6 F g gt fw o9 ardl feste urt o vgfia oxd &1
Both A and R are true

A

T 3R o G v §

Both A and R are false
B

T 3R R EFT s §

A is true but R is false.
C

T & AP oK o B

A is false but R is true.
D

T 3T § b SR T B
Correct Ans : A

Subject : General Science

Q.No: 34 Natural gas is a mixture of ______gas.
2430063
Bicancat s S g Rl B
Hydrocarbons
A
TSI
Alcohols
B
Rinc)
Amines
C
SR
Ketones
D
=
Correct Ans : A
Subject : General Science
Q.No: 35 _____ is obtained by chemical treatment of wood pulp.
2430087
THS F T F IS ITER GRI UG AT e 1
Nylon
A
EeGE]
Polyester
B
BRI
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c Rayon

Ryt
Cotton

DU
Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422592
2, 4,12, 48, 240, 1444
yxgal B e HH 1 udl Te?
2, 4,12, 48, 240, 1444
12
A
12
48
B
48
240
C
240
1444
D
1444

Correct Ans : D

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as {
2422672 3nq find the one that best fits in place of the missing letter of the series.

a ba_ cbaac__aa_ _ba

Frofifea gy § oerl 1 tF @ § TS T 37 dEensl # $o $aR gel iU M €, SR T gEen & 9 fiu v fawedt F I w0 # § o I S arfeny iR few e aR fawedl § § <& S e a7

a__ba__cbaac__aa__ba

ccbb
A

ccbhb

cabc
B

cabc

cbcb
C

cbcb

cach
D

cach

Correct Ans : B

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424520

SR Meq HT T Bifog
A India
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HRd

South America

B

afar sfeT

New Zealand
C

Teids

South Africa
D

SR SivBTeT

Correct Ans : B

Subject : General Reasoning

Q.No: 39  Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426298
DCEF: QPRS :: XWYZ : ?
I HER-TIG BT g X 9l Y HeR-T7g ¥ I UHR Gaflid § S G S1eR-TE, T SHER-Tg ¥ Feifdd 31
DCEF: QPRS :: XWYZ : ?
IHGF
A
IHGF
STUV
B
STUV
SRQP
C
SRQP
KILM
D
KILM

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Select the option /mumber which is related to 3'4 number in the same way as 224 number is related to a
2426398 o

Ist number?

4:25:7:?

3H TEAT /RHeT 1 90 H S Y FEAT W 3H THR FAOT § S GEY HEAT gl
T ¥ meEfea §

4:25:7:?

a3

43
64

64
21

21
81

81
Correct Ans : B

Subject : General Reasoning

24"‘2%4‘;11 Select the option /number which is related to 3™ number in the same way as 2% number is related to ¢
15t number?
1234 :484 1729 :?
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3H TEAT /[AeheT & 98 H A Y FEAT W 3H THR FOOT § A9 gEY HEAT gl
T U HEOT ¢

1234 :484 1729 :?

144

144
169

225

225
361

361
Correct Ans : A

Subject : General Reasoning

Q.No: 42 In the given figure, Which number represents wild Animals with big claws?
2426563
Notails Big claws

Y 4

A
(N
O,

?

Wild animals

& SR W, B WON 3 Uil T STl et B g 82

No tails Big claws

Y 4

A
(SN
O,

Wild aT\imals

2,9
A

2,9

9
B

9

5,9
c

5,9

3,8
D

3,8

Correct Ans : A

Subject : General Reasoning

Q.No: 43 In the given diagram, Circle represents the farmers, Rectangle represents educated and Triangle represents rice.
2426608

How many farmers are educated?
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o Mo e #, g frart @1 ufffia v @, smga Rifde 1 sfafifia @ @ ok B @ 31 vl s g1

N
/ 6\
fraq fram fafem 22

10

10

8
Correct Ans : D

Subject : General Reasoning

Q.No: 44 Kusum is the wife of Ravi, Govind and Prabhu are brothers. Govind is the brother of Ravi. Prabhu is Kusuma‘s?
2429578

FgA, I 1 uel B AfdT iR wy wig §1 M, M @1 g §1 vy 31 o @ @ Gay 71

Cousin
A
EanE|
Brother
B
g
Brother-in-law
C
FeR-gA-ar
Uncle
D
b

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Which answer figure will complete the pattern in the question figure?
2433479

PHH-H IqR MBI TE MPha F Tt & qu Fwie

NE

NZ [T
A
v EI
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QLEE
Zzig
Zzig
2&§
k&§

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Select the option that will come next in the given series?

AN
PXS B8 '
I e 31 997 B S &l TS 4@ H SR STm?

AN

EN
!
/4
%
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O

Correct Ans : D

Subject : General Reasoning

Q.No: 47  Select the option that is related to the fourth number in the same way as the second number is related to the first number.

2434891
12:146::7:227
I ey &1 797 B S reft e A I TR HEia § S o wen, ugeh e & w6l )
12:146::7?:227
17
A
17
15
B
15
13
c
13
14
D
14

Correct Ans : B

Subject : General Reasoning

Q.No: 48 In the following question, choose the pair/group of words that shows the same relationship as given at the top of every pair/group.
2438387

Bird : Nest :: Cow :

I Red &7 797 B o R Teg ¥ I TR Wefid § S o g ugd g & el B

Tt : diean :: T
Jungle
A
STt
B Cave
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 17/38
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Den
C
&
Cowshed
D
T

Correct Ans : D

Subject : General Reasoning

Q.No: 49 Mr. Thakare starts jogging from his home to the nearby park. He jogs 7 m towards east and then jogs 9 m to his left. He then jogs 6 m to his right and then jogs 11 m towards
2438481

oft BTHY S TR Y U & UId F SR [ IR ) 98 g B SR 7 Hiex SR ava 7 iR R 9 Hiex ardt ok wilfif awa 81 R 9% oA €t oiR 6 Hiex Siffi v § 9k IR 11 Aev Iw ¢

16
A

16

25
B

25

20
Cc

20

18
D

18

Correct Ans : C

Subject : General Reasoning

Q.No: 50 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

2438706
A
B
IR T U0 B E2ME I X R @ W, o & T fbey enepfdl # A - wet adur o gnfte
A
B
A
B
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| O] [ |

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Suresh’s sister is the wife of Ram. Ram is Rani’s brother. Ram’s father is Madhur. Sheetal is Ram’s grandmother. Rema is Sheetal’s daughter-in-law. Rohit is Rani’s brother’s son
2439293

T BT S5 T B el B 0 IR @1 S B & e AR €1 a9 @1 gt ¥1 3 2faa o §g 81 AR I & i @1 g 1 g & forg Afga B R

Brother-in-law

A
Sttt
Son
B
Eoi
Brother
c
o
Nephew
D
T

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2aaonss When she comes home, she brings sweet

A. she came home

B. she did not come home

C. she brought sweet

D. she did not bring sweet

T e vy ¥ g1 FU SR TP G IR HUA §| BRI BT i g g, el ed U BT e g Y A B, SR @ Fu il T ge1 $ J W
V9 98 R o7 ¥ A e @l §

A TG R AN TE

B. @8 TR T 31§

C. 9% e @

D. 9% fieTs el g

AC

AC
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BA

DA
c

DA

cb
D

cb

Correct Ans : A

Subject : General Reasoning

221'\4‘1.(:):253 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
* If you interrupt her continuously, she will throw you out
A. you interrupted her continuously
B. you did not interrupt her continuously

C. she threw you out

D. she did not throw you out

fou Y vy & 9 FA SR IUF TS TR FYA §1 FAI F1 BT T IH, el UeA U BT A1 g FUF Y g, 9iR q FuA aifhd wU ¥ gt HuF F W
ML 319 Y WIAR AT B ¢, T I6 A1 TR Feprar et

A. 3T IY WIER S far

B. ST S TR S T fpar

C. I g aTes b e

D. I MU AR T Bl

BD
A

BD

BC
B

BC

DA
c

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

2411%25643 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
The officer will respond if you write complain officially.
A. you wrote the complain officially
B. you did not write the complain officially

C. The officer responded

D. The officer did not respond

fou 7T vy # 9B FuF SR I T R BUF §1 T BT HAT GH T, TeT U89 BT BT A GER U I 7, 3R T HuA AP T Y GBI HUF § WA 51
Ife o MRS AR W R frad 8§ @ iR sae &

A. 1T e R R Rremd fergt

B. MU SR AR W Ripma e foret

C. 3T 7 e far

D. 3P 3 HT & 7Y

BD
A
BD
BC
B
BC
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v

DA
DB

DB
Correct Ans : D

Subject : General Reasoning
Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441958

GWR : HZW :: CJO : ?

I faded &1 907 FX O R Ug I I TR el & O TR gERT U Ugd ug ¥ TEfa § |

GWR : HZW :: CJO : ?

DNT
A

DNT

DMU
B

DMU

DNU
o)

DNU

DMT
D

DMT

Correct Ans : D

Subject : General Reasoning

Q.No: 56  Simplify: 166+30+6-7x2
2422342

IRA DI 166 +30+6-7x2

155
A

155

145
B

145

100
C

100

157
D

157

Correct Ans : B
Subject : General Maths

Q.No: 57 . s _ _{50+ —
2422367 Simplify:316-[103- {50 +3(17-14)}]

WA BT 316 - [103 - {50 +3(17- 14)}]

300
A
300
B 272
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272

281
C

281

-272
D

-272

Correct Ans : B

Subject : General Maths

Q.No: 58 . . 1 . .
2423604 Find the compound interest on Rs. 2470 at the rate of 7% per annum for lE years when interest is

compounded half yearly.

2470%@3«71%3&3:%?7%9%3&@&3@%@3{%%33@33{&
affe &7 & gafera far sar g1

Rs.555.85621

Rs.555.85621
Rs.391.3789

Rs.391.3789
Rs.281.3442

Rs.281.3442
Rs.188.9870

Rs.188.9860
Correct Ans : A
Subject : General Maths

Q.No: 59 Find the compound interest on Rs.15600 for 9 months at 32% per annum compounded quarterly.

2423619
15600 FU HT 32% T a4 3 <X T 9 WA $1 Thqf oI T PG, A=A AR & 7
Rs.45098.4387

A
Rs.45098.4387
Rs.61245.6134

B
Rs.61245.6134
Rs.389.3454

o
Rs.389.3454
Rs.4051.5072

D

Rs.4051.5072
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428584
{74.56 x 6 + 12.12 + 4 - 1.5 x 1.5 - [70.56 - 8.4 x 6 + (15.15 + 3 + 5.5 of 4)]}
T B:
{74.56 x 6 + 12.12 + 4 - 1.5 x 1.5 - [70.56 - 8.4 X 6 + (15.15 + 3 + 4 $1 5.5)]}
400.93

A

400.93
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B 400.83

400.83

400.84
C

400.84

400.94
D

400.94

Correct Ans : A

Subject : General Maths

Q.No: 61 The average age of A, B and C was 25 years and that of B and C was 25 years. A's present

2432527

age is:

A, B 3R C &1 oid org 25 @y ot ok B SR C @Y 3y 25 N <fi| A T IduE

Erce ke

22 years
A

22 9

24 years
B

2499

25 years
Cc

25 a9

26 years
D

26 9

Correct Ans : C

Subject : General Maths

S %, Ifa+b=28and ab =13, find the value of a2— ab + b2 .

gfe a+b=8 3R ab=13 & dl a2 — ab + b2 BT HI JTd B

20
A

20

24
B

24

29
C

29

25
D

25

Correct Ans : D

Subject : General Maths

.No: 63 :
Sas47a0 The greatest of the following number 35,5, 433,941

fgfeied o O T 931 UB: 4.6, 433,91

A 3
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o
=
w

216
B

16

a1
c

a1

s
D

s

Correct Ans : D

Subject : General Maths

Q.No: 64 N N .
2434770 IfSx+ 3y =7 and 125x3 + 27y3 = 280, then the value of the product of x and y is:

E 5x + 3y = 7 and 1253 + 27y3 = 280 B, Ml x 3R y & YU DT HH J1d B<:

O =

Ol =

&l

Gl

(]

1
S
Correct Ans : D
Subject : General Maths

Q.No: 65  Find the single discount equivalent to a series of 30%, 20%, and 10%is
2435215

A
50%
49.6%
B
49.6%
49.4%
o
49.4%
D
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51%

51%
Correct Ans : B
Subject : General Maths

Q.No: 66 The price of a neckles, passing through three hands, rises on the whole by 65%. If the first and second sellers gained 20% and 25% profit respectively, find the percentage pr
2435235

TH §R 3! S, I [Spare I ToRd §T, 65% T& ¢ W ¢ AfS Ugd iR gux fasarelt 3 HA: 20% 3R 25% @M U far, < JRer fassar gR e ufomrd @ 3 &

10%
A
10%
22%
B
22%
18%
C
18%
12%
D
12%

Correct Ans : A

Subject : General Maths

Q.No: 67 Find the profit/loss in percentage, if the cost price of 15 notebook is equal to the selling price of 20 notebooks?
2435295

TfE 15 Fegd o1 B4 Gy 20 TegP P Rpd 50 F R 8, & wliwa & and/e 3 e

25% less
A

25% g

259, profit
B

25% Y

45% profit
C

45% TH

45% loss
D

45% @Iy

Correct Ans : A

Subject : General Maths

Q.No: 68 What fraction of 4 hours is 18 seconds?

2437473
492 18 ¥Ps & R i Ira X
1
400
A
L
400
L
500
B
L
500
c L
600
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800

Correct Ans : D

Subject : General Maths

Q.No: 69 Sonu read one third of 105 pages. How many more pages he need to read to complete the lesson?
2437493

9.3 105 g8i I 0o Riers g 02 < U8 B 1 S P Riw I iR fee gy v e

50
A

50

55
B

55

70
(o

70

20
D

90

Correct Ans : C

Subject : General Maths

Q.No: 70 I . . 2 fi k32
2437553 Whatis the value of (4.6 + 3.1 — (4.6-3.1)*?

(4.6+3.10 = (4.6 -3 .1)* BT AF JTaq B2

57.04
A

57.04

58.86
B

58.86

53.32
C

53 .32

54.68
D

54.68

Correct Ans : A

Subject : General Maths

Q.No: 71 If in a symbolic language ‘BAT" is written *DCV’ then *MAN’ will be written in the same language as?

2422542
I et Fidsfad HIoT & 'BAT' $1 'DCV" ferar SIMe df 'MAN' I ¢t w1 # feren sem forat?
ocP
A
ocP
PCO
B
PCO
o oPC
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 26/38

Page- 26



OPC
corp

corp
Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘STAGE' is written ‘TUBHF’ then ‘STRANGER’ will be written in the same language as?

2422572

fe e wiwfam o1 & 'STAGE' &I 'TUBHF' feran wTg af "'STRANGER' &1 3t Hrw1 # ferar smem ford?

TUSOBHFS
A

TUSOBHFS

TUBOFSHS
B

TUBOFSHS

TUSBOHFS
c

TUSBOHFS

TUBSOHFS
D

TUBSOHFS

Correct Ans : C
Subject : Mental Ability

Q.No: 73 In a row of 30 students, A is 14% from right end. Then find the rank of A from left end.

2425590
30 BE @1 U@ Uikl H A T8 BR ¥ 149 ®IF W 1 @ ¢ SR ¥ A I ¥ I@ Difore?
17
A
17
16
B
16
15
o
15
14
D
14

Correct Ans : A
Subject : Mental Ability

Q.No: 74 Identify the set for the number 3425.

2426508
TR 3425 & I &t T=g # ugaH Sl
SEIU
A
SEIU
SIUE
B
SIUE
SRUI
C
SRUI
SIEU
D
SIEU
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Correct Ans : D
Subject : Mental Ability

Q.No: 75 Identify the set for the number 6458.

2426538

TSI 6458 F ¢ &l Y= $1 UgH Hifg|

MUIN
A

MUIN

MINU
B

MINU

INUM
C

INUM

MIUN
D

MIUN

Correct Ans : D
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430223 gy)0w from the given statements. Indicate your answer.

Statements: “Use sketch colours. They add colour to your life.” -An advertisement said.
Conclusions:
I. That Statement doesn't attract people.

II1. People like dark colors.

i gl ¥, & w3 & Ry 1, 11 91 SRRU aRa § Smue! G S W AR e S, v € 3 SHaR W 9 audl § welld 81 | snue) P Ry e syt & ol Frsed 8) o ST T

FU: "5 T B A HY J oMU Sfia 7 91 4R §1 -Ue famm 3w
fre:

1. 96 FY TRT BT A g1 Fea 81

I1. TR TR ¥ TG R §

Only conclusion I follows

A
o Frepy 1 SRR Bl 8
Only conclusion II follows
B
Faat fFree 1T SR e &
Either I or II follows
C
A1 X T LT SR el §
Neither I nor II follows
D

FA 1 AR TR LI TR el §
Correct Ans : D
Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430252 fojow from the given statements. Indicate your answer.

Statement:

This chapter can help because all good chapters help.
Conclusions:

A This is not a good chapter.

B This is a good chapter.
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C No good chapter help.

D Some good chapters help.
Frafafea gl &, & F3F ) e 1, 11 31 SR04 § SMue! A Sl R R 1 2, 43 € 3 smaR | 910 a3 Wl 89 | snue! i fo e s & afe frsed 81 o S 9mm

FY: TF ST TG HR bl § Ffs aft ey e Weg avd 7
fFremd:

T g U 351 e g

T8 T ST 1A

q P ST I Teg el |

3 HO 3= WM HEE B T

Only conclusion I follows

Fad Py 1 SR Bl §

Only conclusion II follows

el Fep 11 SR BRaT

Either I or II follows

7 I 91 LT SRR Rl §

Neither I nor II follows

TN I SR LI TR Bl §
Correct Ans : B

Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435465 the given statements.

Statements:

1. Some luffa are figs.

II. All figs are lemons.
Conclusions:

1. Some lemons are luffa.

I1. Some figs are lemons.

A T Mg wy F )y IR IEF a1g @ P 1 9R 11 g T B sue) T T wuT @Y o W 8, e 3 e i aedl @ firs vl g 8, smuet Aok @ § R Ry e e F @
HY:

I. $T dRS SRR §

11, ft affiR g 1

frepy:

L 35 Hq g &1

II. 3 3ok AT

Either conclusion I or II follows.

7 df Y 1 7 11 3ITER0T el §

Neither conclusion I nor II follows.

T e 1 R T & 1T SR FRa B

Only conclusion II follows.

Paa e 11 TR B B

Both conclusions I and II follows.

Rt e 1 SR 1T SRR B §

Correct Ans : D

Subject : Mental Ability

Q.No: 79 Two statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to be at variance with commonly known facts
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2435525

Statements:

1.Some teachers are philosophers.
2.Some philosophers are writers.
Conclusion:

I. some writers are teacher

II. No writer is a teacher

Q Hy & are & Frsee 1 SR 11 fag e B fa U YAl B g A Y, WA € S g I 9 & 9 faeRon v |, g8 Fofa & 7 e a1 e iy 1 sl a1 aifde v s a%

B
77 R i 7)1
$9 aRif® TE® gl
s

1. 3% S e §

1L B ue e T8 ¥

Only conclusion I follows

Faa ey 1 SFTER BT ©

Neither conclusions I nor II follows

TR P IS I SR FRar ¥

Only Conclusion II follows

et e 11 SrgaRur el §

Either conclusion I or II follows

7 o FYshY 1 a7 11 3ER01 X §

Correct Ans : D

Subject : Mental Ability

Q.No: 80
2438548

In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:
G>R2E=A<TZLS
Conclusions:

I.G=2E

ILR=ZA

TFATITad Wl &, Bu=! & aig ovmy fau 71w §)
fET a0 &l & HTUR W ST & 37eaTa B A T 5007 & 79 F S9gad [aamed @ 9qd d|

FUA:
G>R2E=A<LTZ<S
g

I.G=E

ILR=A

Only conclusion II is true

Faa = 11 9T R

Only conclusion I is true

g oY 199 &

Either conclusion I or II is true

GRS I Ea R

Neither conclusion I nor II is true

Fafef 1 dRTH I

Correct Ans : A

Subject : Mental Ability

Q.No: 81

2438569
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx

30/38

Page- 30



In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

DzF=Hz2=I

Conclusions:

I.D=H

ILILD

frafafea g #, Fu=i & arg forsad fw are §)

fET 1T Tt & HTUR R FASHE 0T HeTT i 3 AT Sead & &9 F 39gwa [ahed & ag+ B
e

DzF=HzI

s

IL.LD=H

ILI<D

If only Conclusion I is true

A
If} Haa Fred 1 v B
If only Conclusion II is true
B
Ifs Faa Frees 11 w9 §
If either Conclusion I or II is true
(o}
oA i o aa
If neither Conclusion I nor Il is true
D

AN I ARTS I TR
Correct Ans : B
Subject : Mental Ability

(22"‘”3‘;5%28 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
G=H;H<LE
Conclusions:
I.G<E
II.G=E

TAFATITAd 92 &, H2T & arg fovad G 1w §

T T Tl & HUR R FAomS @ Jea9a & A 39 3601 & §9  59gad [Gamed o 940+ a1l
Fe

G=H;H<E

forsad:

I.G<E

IL.G=E

If only I follows

A
Foa Frrf 1o
If only II follows
B
Faa frd 11 v §
If either I or II follows
C
o 1A I eE ¥
If neither I nor II follows
D

EAEEa B K T N b i e

Correct Ans : C
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439084 f5)iow from the given statements.
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Statements:

All slates are pencils.

All slates are pens.
Conclusions:

1. Some pens are not pencils.

II. Some pens are pencils.

A Ru Te uy F € B quT I9% vard &) Fised 1 aur 11 QU e § | vt R T $uA ) U WA § , 1Al 8 98 wdard ael & e welta 819 € aur w5 SR W Seh! ST JTR &1 §

FU:
oft wie IR g1

i we 1 E

ﬁ'ﬂﬂf:

1. $& U9 Uit T 8
I1. 3% 97 9f@ g1

Conclusion II follows

e 11 SFFERY HRaT ¥

Conclusion I follow

FIpY 1 SRR FRaT ¥

Both conclusion I and II follow

frepd 1 3R 11 T SR B §

Neither conclusion I nor II follows

T iy 1 R T € X1 SrgeR TRar §
Correct Ans : A

Subject : Mental Ability

Q.No: 84  Arrange the following words in a logical and meaningful order.
2442671

1. Writing

2. Book

3. Seller

4. Idea

5. Feedback

6. Reader

Fofafea T=i 31 te afds wa srfgf o % s Fifvm)
1. T

2. g

3. fagar

4. @R

5. iegfd

6. TBH

4,1,2,3,6,5

4,1,2,3,6,5
4,1,2,6,3,5

4,1,2,6,3,5
4,1,3,6,5,2

4,1,3,6,5 2
4,1,2,6,5 3

4,1,2,6,5 3

Correct Ans : A
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Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442680

1. Dyke

2. Dwindle

3. Dwell

4. Dye

Frofafea weal o sl TseR & T 1Y 7 & ouR fifdu
1. Dyke

2. Dwindle

3. Dwell

4. Dye

3,2,4,1

3,2,4,1
1,3,4,2

1,3,4,2
2,1,3,4

2,1,3,4

3,4,2,1

3,4,2,1
Correct Ans : A

Subject : Mental Ability

Q.No: 86 Prakash can do a piece of work in 366 days. How much work can he do in 6 days?
2423689

BT U BT P 366 o § B Tl 31 98 6 {1 # fovam1 &M & qava 32
5
23

Nlw

-

1

61

Correct Ans : D

Subject : General Aptitude

Q.No: 87 If 31 boys earn Rs.1240 in 4 days, what will 32 boys earn in 8 days?
2423712

g 31 TSF 4 A1 1240 9 FAK T, o 32 TS 8 R 7 v HaNgT?
Rs.6709

Rs.6709
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Rs.3320

Rs.3320
Rs.4320

Rs.4320
Rs.2560

Rs.2560

Correct Ans : D

Subject : General Aptitude

Q.No: 88
2427638

Which of the following is divisible by 29?

Frofafea & & @ 29 @ faursa 32
148964

148964
864133

864133
875829

875829
951458

951458

Correct Ans : C

Subject : General Aptitude

Q.No: 89
2431235

A

D

If 5x + 5(2 - x) + 10 = 4x - 6 then value of X is :
T 5% + 5 (2 - x) + 10 = 4x - 6 T x FTAA

2
2

6.5
6.5

4.5
4.5

8
8

Correct Ans : B

Subject : General Aptitude

Q.No: 90 The sides of a triangle are 24 cm, 32 cm and 40 cm. What is the height of the perpendicular drawn on the longest side?

2431353

D

T By B i Yo B 24 T, 32 W dw 40 J. ¥ TP TIY T YO W S T TF B L T 82

25 cm
25 &t

21.33 cm
21.33 3

19.2 cm
19.2 ¥f

20 cm
20 3

Correct Ans : C

Subject : General Aptitude

Q.No: 91
2435996

B

How long does a train, 75m long, moving at 60 km/hr take to pass a certain telegraph post?

75 T, Tl T Yermet 60 . /6 3t T A R efive & w6 uR oA H fvan ww Avfie

3.5 seconds

3.5 4%

4.5 seconds
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4.5 ¥Fs

5 seconds
C

5 Jbs

5.4 seconds
D

5.4 9%

Correct Ans : B

Subject : General Aptitude

Q.No: 92 Two train running towards each-other at the speed of 50 km/hr and 60 km/hr from station A and B. When two trains meet each other, the second train covered 120 km more
2436031

S YTISaT Ua-gER Bt 3R A SR B ®RM § HHRn: 50 . /eer aut 60 il /der ot ara & on W 71 fiem & m gl Yo vedd YAt § 120 el worer oft @@ okt §1 G RRE & ¢

990 km.
A

990 .

1200 km.
B

1200 f.

1320 km.
C

1320 f&Ht.

1440 km.
D

1440 forit,

Correct Ans : C
Subject : General Aptitude

‘224'\;‘20‘-234 Two person X and Y moving from same point and same time and same direction with speed of 15
km/h and 12 km/h the speed of person Y increased by % km/h every after 1 hr. After what time X

and Y will meet.

A ARIXT Y& § TAT W & & foaw & 15 Fdivaer 7 12 Fdfimer & 99 @ 999 ¢ W e
=T v & arer Rewlvder gt 31 X 7 Y Ry wve @ M

13 hrs.

139
12 hrs.

1248
15 hrs.

156
9 hrs.

9He
Correct Ans : A

Subject : General Aptitude

Q.No: 94 What is the sum of the digits of the least number, which when divided by 15, 18 and 27 leaves the same remainder 9 in each case and is also completely divisible by 11?
2436161

T B T & BT B AR R 7, T 15, 15 R 27 F AuRK 7 W 1l R & a9m Dw 9 firaar § ofR a7 11 9 oft gt e @ faursa @2

12
A
12
19
B
19
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20
18

18
Correct Ans : D

Subject : General Aptitude

Q.No: 95  If a 9-digit number 32x4114y2 is divisible by 88, then the value of (4x -y) for the smallest possible value of y, is:

2436202
T T 9-3fFT B TBT 32x4114y2 88 I Aursd B, 1, y & ~qrIaw WHT AH F AT (4x -y) FTAAR:
31
A
31
20
B
20
-3
c
-3
11
D
11

Correct Ans : C
Subject : General Aptitude

Q.No: 96 The traffic lights at 3 different road crossings change after every 48 sec, 72 sec and 108 sec respectively. If they all change simultaneously at 8:20 am, then what time they w
2436984

3 -3 VS PIHT TR L AR TS HIR: 48 55 , 72 IF8 R 108 Y & g gaa ol ¢l Afe 7 T Yag 8:20 T UF WM e @, a1 d forw I O A v Wy weaifi?

8:27 am

A
TaE 8:27 T
9:12 am

B
T 9:12 T
8:33 am

C
Y% 8:33 T
8:40 am

D
[aE 8:40 T

Correct Ans : A

Subject : General Aptitude

Q.No: 97 The least number which when divided by 4, 5, 6 and 7 leaves 3 as remainder, but when divided by 9 leaves no remainder is:

2437927
95 AdH T 19 P, R 4, 5, 6 R 7 F g 7R R A 3 T9a1 §, A 79 37 9 F Rl v o R, & B w7 S=ar 82
864
A
864
432
B
432
848
o
848
D 423
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423
Correct Ans : D
Subject : General Aptitude

Q.No: 98 Y and Z can finish a work in 50 days. They work together for 15 days and then left. How much of the work is left?
2444481

Y T4 Z &80 &1 &1 50 57 # % Uad § 321 15 a7 U 919 10 b 18 o faan yi &/ 99 91912

z
10
A
7
10
1
3
B
1
3
1
2
C
1
2
2
5
D
2
S

Correct Ans : A
Subject : General Aptitude

Q.No: 99 Shiv can finish 25% of a work in a day. Ram can finish 12.5% of the same work in a days,
2444482 \hep will both of them finish the work together ?

T3 ©F #1977 25% UF ZA & OF 7979 719 T OF f29 F 12.5% FLaT g, 9¢ M1 OF 91
R Fw T T EE?

2.67 days

2.67 i
2.33 days

2.33fA
3.67 days

3.67 f&7
3.50 days

3.50 fe7

Correct Ans : A

Subject : General Aptitude

Q.No: 100 DIRECTIONS: Complete the following series.

2444671
4,11, 25,53, 109,221, .
P Profefed ga & v |
4, 11, 25, 53, 109, 221,
442

A

442
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B 464

464
445
c
445
542
D
542

Correct Ans : C

Subject : General Aptitude
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